### Jacobi Functions as Limit Cases of q-Ultraspherical Polynomials

#### TOM H. KOORNWINDER

Centre for Mathematics and Computer Science, P.O. Box 4079, 1009 AB Amsterdam, The Netherlands

Submitted by George Gasper

Received July 13, 1988

#### 1. Introduction

q-Ultraspherical polynomials are given by the finite Fourier series

$$C_n(\cos\theta;\beta|q) := \sum_{k=0}^{n} \frac{(\beta;q)_k (\beta;q)_{n-k}}{(q;q)_k (q;q)_{n-k}} e^{i(n-2k)\theta}, \tag{1.1}$$

cf. Askey and Ismail [4, (3.1)]. They have a limit as ultraspherical polynomials,

$$\lim_{q \uparrow 1} C_n(\cos \theta; q^{\lambda} | q) = C_n^{\lambda}(\cos \theta), \tag{1.2}$$

cf. [4, (2.11)]. This can for instance be proved from (1.1) and

$$C_n^{\lambda}(\cos\theta) = \sum_{k=0}^{n} \frac{(\lambda)_k (\lambda)_{n-k}}{k! (n-k)!} e^{i(n-2k)\theta},$$
 (1.3)

cf. Szegö [24, (4.9.19)].

For q=0 and  $\beta^{-1} \in \mathbb{N}$  the q-ultraspherical polynomials (1.1) have an interpretation as spherical functions on homogeneous trees, such that each vertex is adjacent to exactly  $\beta^{-1}+1$  edges. Then n is the variable which lives on the homogeneous space: it denotes the graph distance on the tree to some fixed point (cf. Cartier [6] and Askey and Ismail [4, Sect. 8]). On the other hand, the ultraspherical polynomials (1.3) have (for  $\lambda = \frac{1}{2}d - \frac{1}{2}$ ,  $d \in \mathbb{N}$ ) an interpretation as spherical functions on the sphere  $S^d$ , where  $\theta$  lives on the sphere and denotes the geodesic distance to some fixed point (cf. for instance Vilenkin [26, Chap. 9]). Hence, in the passage from q=0 to q=1 there has been some interchange of the geometric roles of n and  $\theta$ .

Jacobi functions

$$\phi_{\mu}^{(\alpha,\alpha)}(t) := \frac{2^{1/2-\alpha}\Gamma(2\alpha+1)}{\Gamma(\alpha+\frac{1}{2})\Gamma(\alpha+\frac{1}{2})} (\sinh 2t)^{-2\alpha} \int_{-t}^{t} e^{i\mu s} (\cosh 2t - \cosh 2s)^{\alpha-1/2} ds, \quad (1.4)$$

cf. Koornwinder [14, 15], Faraut [8], have (for  $\alpha = \frac{1}{2}d - 1$ ,  $d \in \mathbb{N}$ ) an interpretation as spherical functions on the hyperboloids  $SO_0(d, 1)/SO(d)$ , where t is the geometric variable denoting the geodesic distance. The purpose of the present note is to derive a limit transition from the q-ultraspherical polynomials to the Jacobi functions such that this preserves the variable with the geometric meaning.

Our result is easier described in terms of renormalized q-ultraspherical polynomials

$$R_n(e^{i\theta}; \beta | q) := \frac{\beta^{n/2}(q; q)_n}{(\beta^2; q)_n} C_n(\cos \theta; \beta | q), \tag{1.5}$$

which take the value 1 for  $e^{i\theta} = \beta^{1/2}$ . Then we will prove

$$\lim_{q \uparrow 1} R_{4t/(\log q^{-1})}(q^{(1/4)\mu}; q^{\alpha + 1/2} | q) = \phi_{\mu}^{(\alpha, \alpha)}(t), \qquad t \in [0, \infty), \quad \mu \in \mathbb{C}.$$
 (1.6)

For the moment, we will only give a proof for the case  $\alpha \geqslant \frac{1}{2}$ . This will be done in Section 2, while Section 3 contains some speculations about further extensions of this result. In Section 2 we need the limit formulas as  $q \uparrow 1$  for the q-binomial formula and for the q-gamma function. It seemed useful to me to complement the usual formal proofs of these limits with rigorous proofs. This is the topic of Appendices A and B.

I thank W. van Assche for suggesting to me the second part of the proof of Theorem B.2 and W. A. Al-Salam for giving me references on the historical origin of the q-gamma function, cf. Appendix B.

### 2. Proof of the Limit Formula

By (1.1) and (1.5) we have

$$R_n(e^{i\theta}; \beta \mid q) = \frac{\beta^{n/2}(q; q)_n}{(\beta^2; q)_n} \sum_{k=0}^n \frac{(\beta; q)_k (\beta; q)_{n-k}}{(q; q)_k (q; q)_{n-k}} e^{i(n-2k)\theta}. \tag{2.1}$$

Now fix  $t \in (0, \infty)$ ,  $\mu \in \mathbb{C}$ ,  $\alpha \ge \frac{1}{2}$  and make in (2.1) the substitutions

$$n = \frac{4t}{\log q^{-1}}, \qquad e^{i\theta} = q^{-(1/4)i\mu}, \qquad \beta = q^{\alpha + 1/2}, \tag{2.2}$$

where we choose q such that  $4t/(\log q^{-1}) \in \mathbb{Z}_+$ . In this way q can approach 1 from below while n approaches  $\infty$  in  $\mathbb{Z}_+$ . Also replace the summation variable k in (2.1) by

$$s = t - \frac{1}{2}k \log q^{-1}. (2.3)$$

Then the left hand side of (2.1) becomes the expression after the limit sign in (1.6), while the right hand side of (2.1) becomes

$$\frac{e^{-(2\alpha+1)t}(q;q)_{4t/(\log q^{-1})}}{(q^{2\alpha+1};q)_{4t/(\log q^{-1})}} \times \sum_{\substack{s=-t\\s \text{len} 1/2 \log q^{-1}}}^{t} \frac{(q^{\alpha+1/2};q)_{2(t-s)/(\log q^{-1})} (q^{\alpha+1/2};q)_{2(t+s)/(\log q^{-1})}}{(q;q)_{2(t-s)/(\log q^{-1})} (q;q)_{2(t+s)/(\log q^{-1})}} e^{i\mu s}. \tag{2.4}$$

Now use that

$$\frac{(q^{b+1};q)_{a/(\log q^{-1})}}{(q;q)_{a/(\log q^{-1})}} = \frac{(e^{-a}q;q)_{\infty}}{(e^{-a}q^{b+1};q)_{\infty}} \frac{(1-q)^{-b}}{\Gamma_q(b+1)},$$
 (2.5)

where

$$\Gamma_q(b+1) := \frac{(1-q)^{-b} (q;q)_{\infty}}{(q^{b+1};q)_{\infty}}.$$
 (2.6)

Hence (2.4) can be rewritten as

$$\frac{2\Gamma_{q}(2\alpha+1)(1-q)}{\Gamma_{q}(\alpha+\frac{1}{2})\Gamma_{q}(\alpha+\frac{1}{2})\log q^{-1}} \frac{(e^{-4t}q^{2\alpha+\frac{1}{2}};q)_{\infty}}{(e^{-4t}q;q)_{\infty}} e^{-(2\alpha+1)t} \\
\times \frac{1}{2}\log q^{-1} \sum_{\substack{s=-t\\\text{step }1/2\log q^{-1}}}^{t} \frac{(e^{-2(t-s)}q;q)_{\infty} (e^{-2(t+s)}q;q)_{\infty}}{(e^{-2(t-s)}q^{\alpha+\frac{1}{2}};q)_{\infty} (e^{-2(t+s)}q^{\alpha+\frac{1}{2}};q)_{\infty}} e^{i\mu s}.$$
(2.7)

We assumed that  $\alpha \ge \frac{1}{2}$ . Hence the summand in (2.7) can be majorized by  $e^{|\operatorname{Im} \mu| |t|}$ . We can rewrite the part

$$\frac{1}{2}\log q^{-1}\sum_{s=-t}^{t}\cdots$$

of (2.7) as

$$\int_{-t}^{t} f_{q}(\sigma) d\sigma,$$

where

$$f_q(\sigma) = \frac{(e^{-2(t-s)}q; q)_{\infty} (e^{-2(t+s)}q; q)_{\infty}}{(e^{-2(t-s)}q^{\alpha+1/2}; q)_{\infty} (e^{-2(t+s)}q^{\alpha+1/2}; q)_{\infty}} e^{i\mu s}$$

if  $s = t - \frac{1}{2}k \log q^{-1}$   $(k \in \mathbb{Z}_+)$  and  $\sigma \in (s - \frac{1}{4}k \log q^{-1}, s + \frac{1}{4}k \log q^{-1})$ . Because of Proposition A.1 there is pointwise convergence:

$$\lim_{q \uparrow 1} f_q(\sigma) = (1 - e^{-2(t-\sigma)})^{\alpha - 1/2} (1 - e^{-2(t+\sigma)})^{\alpha - 1/2} e^{i\mu\sigma}.$$

Hence, by dominated convergence and by (A.4) and (B.2), (2.7) converges to

$$\frac{2\Gamma(2\alpha+1)}{\Gamma(\alpha+\frac{1}{2})\Gamma(\alpha+\frac{1}{2})}e^{-(2\alpha+1)t}(1-e^{-4t})^{-2\alpha}$$

$$\times \int_{-t}^{t} (1-e^{-2(t-s)})^{\alpha-1/2} (1-e^{-2(t+s)})^{\alpha-1/2} e^{i\mu s} ds$$

as  $q \uparrow 1$ . This can be rewritten as the left hand side of (1.4). Thus we have completed the proof of (1.6).

#### 3. DISCUSSION OF THE RESULTS

Remark 1. The q-ultraspherical polynomials are special cases of q-Wilson polynomials and can thus be written as  $_4\phi_3$  q-hypergeometric functions,

$$R_n(e^{i\theta}; \beta \mid q) = {}_{4}\phi_3\left(\begin{matrix} q^{-n}, q^n\beta^2, \beta^{1/2}e^{i\theta}, \beta^{1/2}e^{-i\theta} \\ \beta q^{1/2}, -\beta q^{1/2}, -\beta\end{matrix}; q, q\right), \tag{3.1}$$

cf. [4, (3.10)]. If we make the substitutions (2.2) in (3.1) then the right hand side of (3.1) becomes

$${}_{4}\phi_{3}\left(\begin{matrix} e^{4t}, e^{4t}q^{2\alpha+1}, q^{(1/2)\alpha+1/4-(1/4)i\mu}, q^{(1/2)\alpha+1/4+(1/4)i\mu} \\ q^{\alpha+1}, -q^{\alpha+1}, -q^{\alpha+1/2} \end{matrix}; q, q\right). \quad (3.2)$$

Formally, as  $q \uparrow 1$ , (3.2) tends to the ordinary hypergeometric function

$$_{2}F_{1}\left(\frac{\frac{1}{2}\alpha+\frac{1}{4}-\frac{1}{4}i\mu,\frac{1}{2}\alpha+\frac{1}{4}+\frac{1}{4}i\mu}{\alpha+1};\frac{(1-e^{4t})(1-e^{-4t})}{4}\right),$$
 (3.3)

which we can write as a Jacobi function

$$\phi_{(1/2)\mu}^{(\alpha,-1/2)}(2t) = \phi_{\mu}^{(\alpha,\alpha)}(t), \tag{3.4}$$

by [15, (2.7), (5.32)]. Of course, this is the way we obtained (1.6) first, but it is not valid as a proof.

Remark 2. One would expect that Jacobi functions of general order  $(\alpha, \beta)$ 

$$\phi_{\mu}^{(\alpha,\beta)}(t) := {}_{2}F_{1}(\frac{1}{2}(\alpha+\beta+1+i\mu), \frac{1}{2}(\alpha+\beta+1-i\mu); \alpha+1; -\sinh^{2}t)$$
 (3.5)

can be similarly obtained as limits of q-Wilson polynomials (cf. Askey and Wilson [5]). Indeed, write the q-Wilson polynomial as

$$P_n(e^{i\theta}; a, b, c, d | q) = {}_{4}\phi_{3} \left( \begin{matrix} q^{-n}, q^{n-1}abcd, ae^{i\theta}, ae^{-i\theta} \\ ab, ac, ad \end{matrix}; q, q \right).$$
(3.6)

Make the substitutions

$$n = \frac{2t}{\log q^{-1}}, \qquad e^{i\theta} = q^{(-1/2)i\mu}, \qquad a = q^{(1/2)(\alpha + \beta + 1)},$$

$$b = q^{(1/2)(\alpha - \beta + 1)}, \qquad c = -q^{\gamma}, \qquad d = -q^{\delta}.$$
(3.7)

Then the right hand side of (3.6) becomes

$${}_{4}\phi_{3}\left(\begin{matrix}e^{2t}, e^{-2t}q^{\alpha+\beta+\gamma+\delta}, q^{(1/2)(\alpha+\beta+1+i\mu)}, q^{(1/2)(\alpha+\beta+1-i\mu)}\\q^{\alpha+1}, -q^{\gamma}, -q^{\delta}\end{matrix}; q, q\right).$$
(3.8)

As  $q \uparrow 1$  this converges formally to the right hand side of (3.5). It would be interesting to give a rigorous proof that

$$\phi_{\mu}^{(\alpha,\beta)}(t) = \lim_{q \uparrow 1} P_{2t/(\log q^{-1})}(q^{(-1/2)i\mu}; q^{(1/2)(\alpha+\beta+1)}, q^{(1/2)(\alpha-\beta+1)}, -q^{\gamma}, -q^{\delta}|q).$$
(3.9)

It is remarkable that the Jacobi functions of general order cannot be obtained as limits of q-Jacobi polynomials (cf. Askey and Wilson [5, (4.16), (4.17)]). One would only obtain order  $(\alpha, -\alpha)$  or  $(\alpha, -\frac{1}{2})$  for the Jacobi functions.

Formally, one can obtain many other limit transitions to Jacobi functions of the above type, for instance, starting with continuous dual Hahn polynomials, cf. [16, (5.14)].

Remark 3. The limit formula (1.6), which we proved in Section 2 only if  $\alpha \geqslant \frac{1}{2}$ , can be extended to  $\alpha > -1$  by use of the q-difference formula [5, (5.14)] specialized to the case of the q-ultraspherical polynomials and a similar difference formula in  $\mu$  for the Jacobi functions.

Remark 4. The limit formula (1.6) might be used in order to derive

new formulas for Jacobi functions from known ones for q-ultraspherical polynomials. In particular, an expression for the product

$$\phi_{\lambda}^{(\alpha,\alpha)}(t)\,\phi_{\mu}^{(\alpha,\alpha)}(t)$$

as an integral over  $\nu$  of  $\phi_{\nu}^{(\alpha,\alpha)}(t)$  might be obtained from the product formula for q-ultraspherical polynomials in Rahman and Verma [22]. Until now such a formula is only known for the cases  $\alpha = 0$  or  $\frac{1}{2}$ , cf. Mizony [20].

Remark 5. Macdonald [17] has given multivariable generalizations of the q-ultraspherical polynomials. These are associated with root systems. Similarly, Heckman and Opdam [10, 9] have studied multivariable analogues of Jacobi polynomials and Jacobi functions associated with root systems. Macdonald [17] already observed that some Heckman-Opdam polynomials occur as limits of Macdonald's polynomials as  $q \uparrow 1$  and some very deep results in the Heckman-Opdam papers could thus be proved in a much more elementary way. It would be very interesting to prove that an analogue of (1.6) would also be valid for functions associated with root systems.

Remark 6. It would be of interest to prove the Plancherel formula for the Jacobi function transform (cf. [15]) from the orthogonality relations for the q-ultraspherical polynomials by use of (1.6). For this the q-ultraspherical polynomial transform should converge strongly to the Jacobi function transform. See Ruijsenaars [23], where such a strong limit result has been proved for some other class of orthogonal special functions. A next step would be to do the same in the multivariable situation of the previous remark.

# APPENDIX A: On the Convergence of the q-Binomial Series to the Binomial Series

Ramanujan observed in his second notebook (Entry I in Chapter 16, cf. [1, p. 4]) that

$$\lim_{q \uparrow 1} \frac{(q^{\lambda} x; q)_{\infty}}{(x; q)_{\infty}} = (1 - x)^{-\lambda}. \tag{A.1}$$

As pointed out by Askey and Ismail [4, (2.12)], this follows formally from the q-binomial formula

$$\frac{(q^{\lambda}x;q)_{\infty}}{(x;q)_{\infty}} = \sum_{n=0}^{\infty} \frac{(q^{\lambda};q)_n}{(q;q)_n} x^n, \tag{A.2}$$

and the binomial formula

$$(1-x)^{-\lambda} = \sum_{n=0}^{\infty} \frac{(\lambda)_n}{n!} x^n \tag{A.3}$$

by taking termwise limits. In order to make this formal proof into a rigorous one, we have to majorize the series in the right hand side of (A.2) by a convergent series not depending on q.

LEMMA A.1. Let  $\lambda$ ,  $\mu$ ,  $k \in \mathbb{R}$ ,  $0 \le \mu - \lambda \le k$ ,  $\mu + \lambda \ge 1$ ,

$$f(t) := \frac{e^{-\mu t} - e^{-(\lambda + k)t}}{1 - e^{-(k+1)t}}, \quad t > 0.$$

Then  $f'(t) \leq 0$  if t > 0.

Proof. Put

$$g(t) := (1 - e^{-(k+1)t})^2 f'(t)$$

$$= -\mu e^{-\mu t} + (\lambda + k) e^{-(\lambda + k)t} + (\mu + k - 1)$$

$$\times e^{-(\mu + k + 1)t} + (1 - \lambda) e^{-(\lambda + 2k + 1)t}.$$

Then a calculation shows that

$$g(0) = g'(0) = 0,$$
  
$$g''(0) = -(k+1)(k+\lambda-\mu)(\lambda+\mu-1) \le 0,$$

and

$$d/dt \left( e^{(k+1)t} d/dt \left( e^{(-\lambda - 2k - 1 + \mu)t} d/dt \left( e^{(\lambda + 2k + 1)} g(t) \right) \right) \right)$$
  
=  $-(k+1)(k+\lambda - \mu)(k+\lambda)(\mu - \lambda + 1) e^{(\mu - \lambda + 1)t} \le 0.$ 

Hence  $g(t) \leq 0$ .

**Proposition A.2.** Let  $\lambda$ ,  $\mu \in \mathbb{R}$ . Then

$$\lim_{q \uparrow 1} \frac{(q^{\lambda}z; q)_{\infty}}{(q^{\mu}z; q)_{\infty}} = (1 - z)^{\mu - \lambda}, \tag{A.4}$$

uniformly on  $\{z \in \mathbb{C} \mid |z| \leq 1\}$  if  $\mu \geq \lambda$ ,  $\mu + \lambda \geq 1$ , and uniformly on compacta of  $\{z \in \mathbb{C} \mid |z| \leq 1, z \neq 1\}$  for other choices of  $\lambda$ ,  $\mu$ .

*Proof.* It is sufficient to prove the Proposition in the case  $\mu \geqslant \lambda$ ,

 $\mu + \lambda \ge 1$ , since we can always find  $m, l \in \mathbb{Z}_+$  such that  $\mu + m \ge \lambda + l$ ,  $(\mu + m) + (\lambda + l) \ge 1$ . If we then write

$$\frac{(q^{\lambda}z;q)_{\infty}}{(q^{\mu}z;q)_{\infty}} = \frac{(q^{\lambda}z;q)_{l}}{(q^{\mu}z;q)_{m}} \frac{(q^{\lambda+l}z;q)_{\infty}}{(q^{\mu+m}z;q)_{\infty}},$$

we observe that the first quotient tends to  $(1-z)^{l-m}$  as  $q \uparrow 1$ , uniformly on compacta of  $\{z \in \mathbb{C} \mid |z| \leq 1, z \neq 1\}$ .

So assume  $\mu > \lambda$ ,  $\mu + \lambda \ge 1$ , 0 < q < 1, the result being trivial if  $\mu = \lambda$ . Then, for  $|z| \le 1$ ,

$$\frac{(q^{\lambda}z;q)_{\infty}}{(q^{\mu}z;q)_{\infty}} = \frac{(q^{\lambda-\mu}q^{\mu}z;q)_{\infty}}{(q^{\mu}z;q)_{\infty}} = \sum_{n=0}^{\infty} \frac{(q^{\lambda-\mu};q)_{n}}{(q;q)_{n}} (q^{\mu}z)^{n}$$

$$= \sum_{n=0}^{\infty} \frac{q^{\mu}-q^{\lambda}}{1-q} \frac{q^{\mu}-q^{\lambda+1}}{1-q^{2}} \cdots \frac{q^{\mu}-q^{\lambda+n-1}}{1-q^{n}} z^{n}. \tag{A.5}$$

By Lemma A.1 we have, for  $k \ge \mu - \lambda$ ,

$$0 \leqslant \frac{q^{\mu} - q^{\lambda + k}}{1 - q^{k+1}} \leqslant \lim_{q \uparrow 1} \frac{q^{\mu} - q^{\lambda + k}}{1 - q^{k+1}} = \frac{\lambda - \mu + k}{k+1}.$$

Put  $m := [\mu - \lambda + 1]$ . Then, for  $n \ge m$ ,

$$\left|\frac{(q^{\lambda-\mu};q)_n}{(q;q)_n}(q^{\mu}z)^n\right| \leqslant M\frac{(\lambda-\mu+m)_{n-m}}{(m+1)_{n-m}},$$

where

$$M := \sup_{0 < q < 1} \left| \frac{q^{\mu} - q^{\lambda}}{1 - q} \frac{q^{\mu} - q^{\lambda + 1}}{1 - q^{2}} \cdots \frac{q^{\mu} - q^{\lambda + m - 1}}{1 - q^{m}} \right|.$$

Now the series  $\sum_{n=m}^{\infty} ((\lambda - \mu + m)_{n-m}/(m+1)_{n-m})$  converges. Hence the series (A.5) converges uniformly to its termwise limit

$$\sum_{n=0}^{\infty} \frac{(\lambda - \mu)_n}{n!} z^n = (1 - z)^{\mu - \lambda}. \quad \blacksquare$$

## APPENDIX B: On the Convergence of the q-Gamma Function to the Gamma Function

In (2.6) we introduced the q-gamma function

$$\Gamma_q(z) := \frac{(1-q)^{1-z} (q;q)_{\infty}}{(q^z;q)_{\infty}}, \qquad z \in \mathbb{C}, \ z \neq 0, \ -1, \ -2, ..., 0 < q < 1. \quad (B.1)$$

A version of this function, namely

$$\Omega(q,a) := \frac{(q;q)_{\infty}}{(q^{a+1};q)_{\infty}},$$

cf. Heine [11, p. 109], seems to go back to a paper by Heine in Crelle's J. **24** (1847), p. 309. Jackson [12] introduced a q-gamma function similar to (B.1) except for a factor  $q^{z(z+1)/2}$  and he claimed that it reduces for q=1 to Gauss's product expansion (B.5) for the gamma function. In Jackson's paper [13] of 1905 the q-gamma function essentially occurs as in (B.1), with |q| < 1. Jackson there rewrites  $1/\Gamma_q(z)$  as an infinite product resembling Weierstrass's product expansion [7, (1.1.3)] for  $1/\Gamma(z)$  and he claims that his expression converges to Weierstrass's expression as  $q \uparrow 1$ . The same limit

$$\lim_{q \uparrow 1} \Gamma_q(x) = \Gamma(x), \qquad x > 0, \tag{B.2}$$

was given (without proof) in Ramanujan's second notebook (Entry 1 in Chapter 16), cf. [1, p. 4]. In more recent times Askey [3] extensively discussed the q-gamma function, together with a rigorous proof of (A.1). In Andrews [2, Appendix A] one finds W. Gosper's proof of (B.2), which is very short, but not completely satisfactory, as it is only formal. Here we add some material which makes Gosper's proof rigorous. Moreover we extend the proof to complex values of the argument. The proof of this extension was suggested by W. van Assche.

Define for n = 1, 2, 3, ...,

$$f_{z,n}(q) := \begin{cases} \frac{(1 - q^{n+1})^z}{(1 - q^{n+z})(1 - q^n)^{z-1}}, & 0 \le q < 1, \\ \frac{n}{n+z} \left(\frac{n+1}{n}\right)^z, & q = 1. \end{cases}$$
(B.3)

Then, by (B.1) and following [2, Appendix A] we can write

$$\Gamma_q(z+1) = \prod_{n=1}^{\infty} f_{z,n}(q), \qquad 0 < q < 1,$$
 (B.4)

while for  $\Gamma(z+1)$  we have Gauss's formula

$$\Gamma(z+1) = \prod_{n=1}^{\infty} f_{z,n}(1),$$
 (B.5)

cf. for instance Olver [21, Chap. 2, Sect. 1.3].

LEMMA B.1. Let  $q \in [0, 1]$ ,  $x \in (0, \infty)$ ,  $n \in \mathbb{N}$ . Then  $f_{x,n}$  is continuous on [0, 1],  $f_{1,n}(q) = 1$ ,  $f_{x,n}(0) = 1$ , and  $f_{x,n}$  is monotonically decreasing or increasing on [0, 1] according to whether 0 < x < 1 or x > 1, respectively.

Proof. Put

$$g_{x,n}(t) := \log(f_{x,n}(e^{-2t})),$$
  
 $h(y) := y \coth y.$ 

Then

$$g'_{x,n}(t) = t^{-1}(xh((n+1)t) - h((n+x)t) - (x-1)h(nt))$$

and h''(y) > 0. Hence h is convex and  $g'_{x,n}(t) < 0$  or > 0 for  $t \in (0, \infty)$  according to whether 0 < x < 1 or x > 1, respectively.

THEOREM B.2. For all complex  $z \neq -1, -2, ...,$  we have

$$\lim_{q \uparrow 1} \Gamma_q(z+1) = \Gamma(z+1). \tag{B.6}$$

*Proof.* First we take  $z \in (1, \infty)$ . Then, by Lemma B.1, the factors  $f_{z,n}(q)$  lie between 1 and  $f_{z,n}(1)$ . Hence, the limit as  $q \uparrow 1$  in (B.4) can be taken factorwise and the result follows from (B.5).

Next we take  $z \in \mathbb{C}$  with Re z > 0. Then it is easily seen from (B.3) that

$$|f_{z,n}(q)| \leqslant f_{\operatorname{Re} z,n}(q).$$

Hence

$$|\Gamma_a(z+1)| \leq \Gamma_a(\operatorname{Re} z+1) \leq \max\{\Gamma(\operatorname{Re} z+1), 1\}.$$

So the family of functions  $\{z \mapsto \Gamma_q(z)\}$  (0 < q < 1) is uniformly bounded on compacta of  $\{z \mid \text{Re } z > 0\}$ , while it tends to a limit as  $q \uparrow 1$  if z > 0. Hence, by Vitali's convergence theorem (cf. for instance Titchmarsh [25, Sect. 5.21]) the family tends to a limit on the whole right half plane as  $q \uparrow 1$ . This limit is necessarily the analytic continuation of  $z \mapsto \Gamma(z+1)$ .

Finally the limit formula can be proved for other complex  $z \neq -1, -2, ...$ , by use of the two recurrence formulas

$$\Gamma_q(z+1) = \frac{1-q^2}{1-q} \Gamma_q(z)$$
 and  $\Gamma(z+1) = z\Gamma(z)$ .

#### REFERENCES

1. C. Adiga, B. C. Berndt, S. Bhargava, and G. N. Watson, Chapter 16 of Ramanujan's second notebook: Theta-functions and q-series, Mem. Amer. Math. Soc. 315 (1985).

- G. E. Andrews, q-Series: Their development and application in analysis, number theory, combinatorics, physics, and computer algebra, in "Regional Conference Series in Math.," Vol. 66, Amer. Math. Soc., Providence, RI, 1986.
- 3. R. Askey, The q-gamma and q-beta functions, Appl. Anal. 8 (1978), 125-141.
- 4. R. ASKEY AND M. E. H. ISMAIL, A generalization of ultraspherical polynomials, in "Studies in Pure Mathematics" (P. Erdös, Ed.), pp. 55-78, Birkhäuser, Basel, 1983.
- R. ASKEY AND J. WILSON, Some basic hypergeometric orthogonal polynomials that generalize Jacobi polynomials, Mem. Amer. Math. Soc. 319 (1985).
- 6. P. Cartier, Harmonic analysis on trees, Proc. Sympos. Pure Math. 26 (1973), 419-424.
- A. ERDÉLYI, W. MAGNUS, F. OBERHETTINGER, AND F. G. TRICOMI, "Higher Transcendental Functions," Vols. I, II, III, McGraw-Hill, New York, 1953, 1955.
- 8. J. FARAUT, Analyse harmonique sur les paires de Guelfand et les espaces hyperboliques, in "Analyse Harmonique," pp. 315-446, CIMPA, Nice, 1982.
- G. J. HECKMAN, Root systems and hypergeometric functions, II, Compositio Math. 64 (1987), 353-373.
- G. J. HECKMAN AND E. M. OPDAM, Root systems and hypergeometric functions, I, Compositio Math. 64 (1987), 329-352.
- 11. E. Heine, "Handbuch der Kugelfunctionen, Theorie und Anwendungen. Erster Band: Theorie der Kugelfunctionen und der verwandten Functionen," G. Reiner, Berlin, 1878.
- F. H. JACKSON, On generalized functions of Legendre and Bessel, Trans. Roy. Soc. Edinburgh 41 (1904), 1-28.
- F. H. JACKSON, The basic gamma function and the elliptic functions, Proc. Royal Soc. London Ser. A 76 (1905), 127-144.
- 14. T. H. KOORNWINDER, A new proof of a Paley-Wiener type theorem for the Jacobi transform, Ark. Mat. 13 (1975), 145-159.
- 15. T. H. Koornwinder, Jacobi functions and analysis on noncompact semisimple Lie groups, in "Special Functions: Group Theoretical Aspects and Applications" (R. A. Askey, T. H. Koornwinder, and W. Schempp, Eds.), pp. 1–85, Reidel, Dordrecht, 1984.
- T. H. KOORNWINDER, Group theoretic interpretations of Askey's scheme of hypergeometric orthogonal polynomials, in "Orthogonal Polynomials and Their Applications" (M. Alfaro, J. S. Dehesa, F. J. Marcellan, J. L. Rubio de Francia, J. Vinuesa, Eds.), pp. 46-72, Lectures Notes in Math., Vol. 1329, Springer-Verlag, 1988.
- 17. I. G. MACDONALD, Orthogonal polynomials associated with root systems, preprint, 1988.
- 18. Deleted in proof.
- 19. Deleted in proof.
- M. MIZONY, Algèbres et noyaux de convolution sur le dual sphérique d'un groupe de Lie semi-simple, non-compact et de rang 1, in "Publ. Dép. Math. (Lyon)," Vol. 13, pp. 1-14, Univ. Claude-Bernard, Lyon, 1976.
- F. W. J. OLVER, "Asymptotics and Special Functions," Academic Press, Orlando, FL, 1974
- 22. M. RAHMAN AND A. VERMA, Product and addition formula for the continuous q-ultraspherical polynomials, SIAM J. Math. Anal. 17 (1986), 1461-1474.
- 23. S. N. M. RUIJSENAARS, The continuum limit of the infinite isotropic Heisenberg chain in the ground state representation, *J. Funct. Anal.* 39 (1980), 75-84.
- 24. G. Szegő, Orthogonal polynomials, in "American Math. Society Colloquium Publications," Vol. 23, 4th ed., Amer. Math. Soc., Providence, RI, 1975.
- E. C. TITCHMARSH, "The Theory of Functions," 2nd ed., Oxford Univ. Press, London/ New York, 1939.
- N. JA. VILENKIN, Special functions and the theory of group representations, in "Amer. Math. Soc. Transl. of Math. Monographs," Vol. 22, Amer. Math. Soc., Providence, RI, 1968.